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EW mas #iEgz(30 a e EW x4 mz&(R0)
B# | DL | & #% ol 4 L ik REAA | COP Datum
1
b= H2u% | NS | EW | 6%=25% | NS | EW | #1 | #4 | #1 ]| #4|#1 | #4 || Mean | Ns EW
1 N [None 2DE3 110 3HN-2 100 10 EW100
2 E | NS 3NS-2 200 3HW3 140 60 2 EW80 -3 2
3 S | EW 3SS-1 50 3SS-1 50 EW50
4 | W (Both 6DS-1 100 5SN5 650 750 13 NS450 -11 -5
5 N | NS 4HE4 420 3NE3 400 20 1 EW280 -4 3
6 E | EW 2HE3 140 2HE-1 100 240 6 EW10 -4 -3
7 S |[Both 7SS7 2210 6SS7 1460 750 13 NS1640 1 5
8 W |None 3NS-2 100 3CN3 110 210 5 EW40 -2 -4
9 N | EW 4SS5 450 4SS4 420 30 1 NS440 1
10 | E |Both 3SN4 170 4SN4 620 450 10 NS550 -9 -2
@3 IMP| 14 |37 22 | -3
B3 1 Infinity 4 TW Open
+ B IMP 14 37
&3P 14 37 »
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B# | DL | & #% ol 4 L ik REAA | COP Datum
1
bl Hre% | NS | EW | ¢%=223% | NS | EW | #2 | #3 |#2 | #3 | #2|#3 || Mean | Ns EW
1 N |None 2DE3 110 3DE3 110 EW100
2 E NS 3DN-1 100 4HW-2 100 200 5 EW80 -1 -5
3 S | EW 2SS-1 50 4SS-1 50 EW50
4 W |Both 4NN5 660 5DS5 600 60 2 (2) (0.4 NS450 5 -4
5 N NS 3NE4 430 4HE-2 100 530 11 EW280 -4 9
6 E | EW 4HE-1 100 3CS-2 100 200 5 EW10 3 3
7 S |Both 4SS7 710 7SS7 2210 1500 17 NS1640 -14 -1
8 W |None| 3NS-2 100 3NS-2 100 EW40 -2 2
9 N | EW 4SS5 450 4SS5 450 NS440
10 E |Both 4SXN4 790 4SN4 620 170 5 NS550 6 -2
@3t IMP| 10 | ### 7 | -26
~L .
%% 2 L ja 3 TW Mixed
* B IMP 10 33.4
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B# | DL | & #% MEE M E ik REAA | COP Datum
1
M 2xsms | NS [ EW | 2x2ms | NS | EW | #4 | #1 |#4 ] #1|#4|# || Mean | Ns | EW
1 | N |None|  3HN-2 100 2DE3 110 | 10 EW100
2| E|Ns| 3HW3 140 3NS-2 200 | 60 2 EWS0 | -2 3
3| s |EW| 38841 50 3SS-1 50 EWS50
4 | W |Both| 5SN5 650 6DS-1 100 | 750 13 NS450 | 5 11
5| N|Ns 3NE3 400 4HE4 420 | 20 1 EW280 | -3 4
6 | E|EW/| 2HE- 100 2HE3 140 | 240 6 EW10 | 3 4
7 | S |Both| 6SS7 | 1460 7887 | 2210 750 13 NS1640| 5 | -11
8 | W [None|  3CN3 110 3NS-2 100 | 210 5 EW40 | 4 2
9 | N|EW| 4ssa4 420 4ss5 450 30 1 NS440 | -1
10 | E |Both|  4sN4 620 3SN4 170 450 10 NS550 | 2 9
@3t IMP|37 |14 3 | 22
B3 4 TW Open 1 Infinity
* BINP 37 14
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B# | DL | & #% MEE M E ik REAA | COP Datum
1
R txz 2% | NS | EW | 29223 | NS | EW | #3 | #2 | #3 | #2 | #3 | #2 Mean NS EW
1 N |None| 3DE3 110 2DE3 110 EW100
2 E | NS 4HW-2 100 3DN-1 100 200 5 EW80 5 1
3| S |EW 4SS-1 50 28S-1 50 EW50
4 | W |Both 5DS5 600 4NN5 660 60 2 NS450 4 -5
5| N| NS 4HE-2 100 3NE4 430 || 530 1 EW280 9 4
6 E | EW 3CS-2 100 4HE-1 100 200 5 EW10 -3 -3
7 | S |Both 7887 2210 4SS7 710 1500 17 NS1640 | 11 14
8 | W [None 3NS-2 100 3NS-2 100 EW40 -2 2
9 | N | EW 4SS5 450 4SS5 450 NS440
10 | E |Both 4SN4 620 4SXN4 790 170 5 NS550 2 -6
&3 IMP| 33 |12 26 | 7
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